5.1.3 Exercise 2 – pH calculations involving weak acids
+
1. Calculate the molarity of a solution of HCOOH (Ka = 1.6 x 10-4 moldm-3) which has a pH = 2.62
2. The pH of a 0.10 moldm-3 solution of a weak monoprotic acid HA is 2.85. Determine the Ka of the acid

3. A 500 cm3 solution containing 1.9g of a weak acid HA has a pH of 3.50. Calculate the molar mass of the acid, given that it has a Ka of 2.0 x 10-6 moldm-3.
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1.
a) 3.00



b) 11.30

c) 2.60

d) 4.89

e) 1.65



f) 12.60

2.
a) 3.1 x 10-3 moldm-3


b) 0.036 moldm-3
c) 9.3 x 10-4 moldm-3
3.
2.0 x 10-5 moldm-3
4.
76

